UG/5th Sem/G/21/CBCS

U.G. 5th Semester Examination 2021
MATHENMNATICS (General)
Paper : SEC-3
[Mathematical Statistics & Its Applications]
(CBCS)
Full Marks : 32 Time : 2 Hours

The figures In the margin indicate full marks,
Notarions and symbols have their usual meanings.

Group - A

(4 Marks)

[

Answer any four quastions - dxl=4
(@) What are the uses of bar zraph”

(b) State the relationships among AM  GM  and HM.

{(c) Let'sconsiderthe data : 56_67_34_ 34, 78 4323 Find out the median

{d) Let's consider the data - 76, 102, 44. 42, 80, 530. Find out the second moment

(e} State the central imit theorem.

(f) State the relationship between level of sigmificance and null hvpothesis.

(g) If two vanables are uncorrelated then the valee of correlation coefficient will

be?




[

Lid

L

Group-B

(10 Marks)
Answer anv pro questions - 2x5=10
Caleulate the Quartile devianon and Mean deviation from mean for the following data -
marks - 0-10 1020 20-30 3040 40-30  30-60 60-70

no. of stpdents 4]
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If X 1s a chi-square vanate with 7 d £ then prove that for large 5. V2.8 ~ N| ﬁ 1]

(]

In a large city A, 20 percent of a random sample of 900 school children had defective eve-
siznt In other large city B, 13 perent had the same defect. Is the difference between the two
proportions sigmficant? Obtain 95% confidence limiis for the didfference m the population
propottions. 3

If the lines dx+3y=>32 and x+y=32 be the regression lines of xon yvand yon x

respectrvely. Obtain the comelation coefhcient 3
Group-C
(18 Marks)

Answer any o questions 2=8=18

(a2 Determine the least square approxamation of the form gy + by + ¢ 10 the funcuion 7*

atthepomts x="10,1_2.3 4 3

W

(b) Given flx.y)=xé *x>0y20

find the resression curve of Fon XU 4

In one sample of § observanons, the sum of squares of the detiations of the sample values
from the sample mean was 84 4 and in the other sample of 10 observations 1twas 102.6:
Test whether this difference 15 significant at 3 percent level given that the 5 percent point of
Ffor n; =7 and i, = 9 degrees of freedom 15 3.29. 9

Show that the sample mean 15 an unbiasaed eshmate of the population mean buot the sample

variance 18 notan ubiasad eshmate of population vananes. g







